Word Problems
Name: Date:

1) Cameron collected 786 seashells during a beach vacation. He gave 732 seashells to he best friend. How
many seashells does Cameron have now?

2) Jackson collected 732 acorn(s). He found 786 more in the woods. How many acorns does Jackson have
in total?
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4) Camden collected 396 beautiful flower(s) in the park. He found 776 more under a tree. How many flowers
does Camden have in total?
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Word Problems Answers

1) Cameron now has 54 seashells.
2) Jackson has 1518 acorn(s).

3) Timothy now has 380 pencils.
4) Camden has 1172 flowers.
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